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Please note that you may see slight differences in font and formatting between this paper and the original. The difference does not impact how the questions should be interpreted
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INSTRUCTIONS 
•   Write your name, in the boxes above. Please write clearly and in capital letters.
•   Use black ink. HB pencil may be used for graphs and diagrams only.
•   Answer all the questions, unless your teacher tells you otherwise.
•   Read each question carefully. Make sure you know what you have to do before starting your answer.
•   Where space is provided below the question, please write your answer there.
•   You may use additional paper, or a specific Answer sheet if one is provided, but you must clearly show the question number(s). 
INFORMATION 
•   The number of marks is given in brackets [ ] at the end of each question or part question.
•   The total number of marks for this paper is 30. 


		
	 
	
	

	1.
	Paula and Steven are partners and have two young children. Both have full-time jobs.

Identify three barriers that might prevent Paula and Steven from regular participation in sport.
 
	1.
	[1]

	2.
	[1]

	3.
	[1]


 







	
 
	
	 
	
	

	2.
	Rachel has a partner and two children. She would like to join a local running club which is 10 miles away. Rachel currently works full-time in the day and her partner works evening shifts Monday to Friday. The couple share use of the family car.

Suggest two solutions that could enable Rachel to participate in running.
 
	Solution 1 
	 

	 
	[1]



 
	Solution 2 
	 

	 
	[1]


 







	
 
	
	 
	
	

	3.
	Describe three ways in which sport can be made more accessible for those with disabilities and give an example for each.
 
	1
	 



 

 

 

 

 

 
	2
	 



 

 

 

 

 












 
	3
	
 


 

 

 

 

[6]
 







	
 
	
	 
	
	

	4.
	A local leisure centre would like to encourage more people over the age of 50 to use their sports facilities.

Suggest three reasons why over 50s may not currently use the local leisure centre.
 
	1
	 

	 

	2
	 

	 

	3
	 

	 

	[3]


 







	
 
	
	 
	
	

	5.
	The Football Association’s ‘Respect’ campaign is a current sporting initiative to improve behaviour towards officials by football players.

Describe how improving behaviour towards officials may help to promote participation in sport.
 

 

 

 

 

[3]
 







	
 
	
	 
	
	

	6.
	Futsal is a version of football, played mainly indoors between teams of five players. A smaller, less bouncy ball is used than in association football. Games are in two 30-minute halves.

Give three reasons why Futsal might be growing in popularity in the UK.
 
	Reason 1
	 


[1]

 
	Reason 2
	 


[1]

 
	Reason 3
	 


[1]
 







	
 
	
	 
	
	

	7.
	Participation in recreational swimming tends to increase after major events such as the Olympics, partly due to the increased media coverage it receives.

Apart from media coverage, describe three factors which impact on the popularity of swimming in the U.K.
 
	Factor
	 

	Description
	 

	 

	Factor
	 

	Description
	 

	 

	Factor
	 

	Description
	 

	[6]


 







	
 
	
	 
	
	

	8.
	 Apart from media coverage, describe a different factor which can affect the popularity of each type of sport given below.
 
	Winter sports (e.g. skiing)
	 



 

 
	Martial arts (e.g. karate)
	 



 

 
	Racing using animals (e.g. horse racing)
	 



 

 
	 
	[3]


 







	
 
	
	 
	
	

	9.
	Which one of the following sports is the most popular in terms of participation rates in the UK?

(Circle your chosen option to indicate your answer).
 
	(a)
	Rugby league

	(b)
	Rugby union

	(c)
	Netball

	(d)
	Cycling



 
	 
	[1]


 









END OF QUESTION PAPER




Mark scheme
The examiner comments shown in the “Guidance” column of the mark scheme are taken from the relevant Examiners’ Report. N.B. Examiners’ comments are not available for all questions. 
 

	Question
	Answer/Indicative content
	Marks
	Guidance

	1
	
	
	Three marks from:
1. Family commitments.
2. Not much free time available.
3. Work restrictions.
4. Activities not available at time they want to participate
5. Awareness of what is available.
6. Time taken providing support / transport for childrens activities.(e.g. ferrying children to activities constrains time available)
7. Too tired after childcare / domestic responsibilities.
8. Shortage of money
9. Lack of childcare
	
1
1
1
1

1

1




1

1
1
	1 mark for each correct answer.

Do not accept time / cost / full-time job / money / transport
Do accept child commitments / work commitment
Working full-time - BOD








Examiner’s Comment

Barriers to regular participation.
Whilst this was a reasonably well answered question, it was noticeable that some candidates did not give sufficient detail relating to the barrier identified. For example; the word time was used, without any qualification of Paula and Steve having a lack of time.

	
	
	
	Total
	3
	

	2
	
	
	Two marks from:
1. Club offer running sessions at weekends
2. Run on her own / with friends
3. Find a nearer club
4. Seek out appropriate childcare / running club provide a creche / club provides children’s activities / provides family running sessions
5. See if partner can use other transport to allow her use of car / she could use public transport / share a lift
6. Could exercise at other times (e.g. lunch break)
	

1

1
1
1




1



1





	1 mark for each correct answer


Emphasis is on the club providing alternative timings / sessions









Emphasis is on Rachel as an individual finding an alternative time.



Examiner’s Comments
Reasonably well answered by many candidates.

	
	
	
	Total
	2
	

	3
	
	
	Six marks from:
1. Assistance available to access facilities (e.g. in a swimming pool there needs to be a hoist / leisure assistant to help with fitness equipment)
2. Access to the building should be appropriate (e.g. there should be lifts to floors above ground level / e.g. there should be disabled parking near to the entrance)
3. A range of activities which are suitable (e.g. boccia / wheelchair basketball)
4. Suitable specialist equipment (e.g. for a blind person to play football they need a ball which has a bell in it)
5. Provision of transport (e.g. a minibus with wheelchair access which can take people to and from activity sessions)
6. Separate sessions available (e.g. swimming session where pool is used solely by disabled group)
7. Signage (e.g. braille on signs)
8. Better promotion of the availability of events / sessions / equipment which provides access
	1




1





1


1



1


1



1
1


	Enter text here.

	
	
	
	Total
	6
	

	4
	
	
	Three marks from:
1. Lack of access to get into facility/lack of appropriate facilities
2. Lack of (suitable) provision/lack of over 50 sessions
3. Lack of transport
4. Lack of awareness of activity provision
5. Health issues/lack of mobility which can negatively affect ability to participate.
6. Lack of disposable income\cost of equipment/cost of sessions
7. Lack of time
	3
	One mark for each correct answer.

Examiner’s Comments

Exemplar 1

[image: ]

Exemplar 2

[image: ]

Exemplar 1 illustrates the clarity required for a maximum scoring response, whilst Exemplar 2 demonstrates the impact of a lack of specificity in the comments relating to transport and the range of sports available. Both these comments would have been acceptable had they identified exactly what the issue with transport is and referred to a lack of appropriate sports.

	
	
	
	Total
	3
	

	5
	
	
	1. (Positive behaviour to officials) may boost the image / reputation of the sport
2. Sport will be viewed as safe / less violent / less aggressive (if decisions of officials are respected)
3. Friendlier / more enjoyable / positive experience socially acceptable / fairer game
4. More people likely to take up officiating / volunteering/ roles if they see others being respected.
5. Performers respecting officials will be seen as positive role models boosting participation.
	
1


1



1


1



1



	Do not accept converse. i.e. poor behaviour to officials will result















Examiner’s Comments
Candidates generally struggled with this question, with points 4 and 5 on the mark scheme being the most frequently cited. There was much focus on players, without the link to their behaviour towards officials.

	
	
	
	Total
	3
	

	6
	
	
	Three marks from:
1. Can be played indoors which appeals in winter.
2. Indoor facilities can easily be adapted to play
3. Accessible to all levels and abilities \ ages \ easier to play
4. Can be used to develop football skills
5. Can be played in shorter matches (which meets lifestyle needs of participants)
6. Increase in competitive opportunities
7. Greater media profile / promotion of the sport
8. More enjoyment due to more contact with the ball
	

1

1

1

1

1


1

1

1
	


Do not accept play with friends.














Examiner’s Comments
Point 1, relating to the possibility of playing indoors, was gained by a substantial candidates. However, many candidates were not able to use analytical skills to offer reasons as to why Futsal is increasing in popularity. Many responses simply regurgitated the comments made in the question leader.

	
	
	
	Total
	3
	

	7
	
	
	One mark for each factor and one mark for matching description
1. (Factor) Provision / facilities / access.
2. Good availability of swimming pools locally will help boost popularity
3. (Factor) Climate / weather.
4. Not as popular as in hot climates / too cold in the UK
5. (Factor) Success of individuals / sufficient role models
6. Can inspire participation
7. (Factor) National success of swimming
8. Medals at the Olympics or world championships
9. (Factor) Social acceptability.
10. Seen as a life skill which can make it popular
11. (Factor) School activity / available on school curriculum
12. Taught in schools which increases popularity
13. (Factor) Environment / locality / geographical area
14. Swimmers more likely to use the sea if they live on coast
15. (Factor) Ethnicity / peers / religion
16. Some Muslim women cannot reveal their body
17. (Factor) Body image / confidence
18. Teenagers may not like showing their body
	





6
	Accept converse e.g. lack of facilities will limit popularity

Description marks (even numbers) cannot be awarded without correct factor (odd numbers)

Factors (odd numbers) can be awarded without description (even numbers)























Examiner’s Comments
While a number of candidates gained four marks, others were unable to identify an appropriate factor and relate it to its impact on the popularity of swimming together with a correct description.

	
	
	
	Total
	6
	

	8
	
	
	One mark for each correct factor

Winter sports
1. Environment / climate not suitable(lack of snow may hinder participation in the U.K)
2. Lack of provision of dry slopes / indoor slopes. Winter sports clubs (some areas do not have access to facilities / practice facilities such as dry ski slopes)
3. Good provision in some areas of dry slopes / indoor slopes (e.g. artificial indoor ski slopes are available in some areas and have boosted popularity.
4. Lack of role models (no role models to motivate people which has impacted on popularity)
5. Lack of success in winter sports
6. Cost of activity. Winter sports can be expensive in terms of equipment required.


Martial Arts
7. Social acceptability / Seen as a violent sport / fear of injury / risk of injury not deemed appropriate to younger people.
8. Success of individuals / role models (national and international success help build popularity of the this type of sport e.g. Olympic judo success) / or except converse
9. Extensive provision available / many different new variants available which have boosted popularity of certain martial arts


Racing
10. Animal cruelty (many see use of the whip in racing or as wrong)
11. Spectatorship – good levels of spectatorship at major race meeting
12. Gambling (traditional sport that is popular to bet on)
13. Cost of horse ownership
	




1


1




1




1



1

1







1



1





1









1


1


1
1
	

Only accept factor once e.g. role models can only be awarded for one category of sport.

BOD Environment / climate













BOD Cost of equipment / participation











BOD = ‘acceptability’

























Examiner’s Comments
A reasonably well answered question, with many candidates gaining two of the three marks on offer regarding how differing factors might affect the popularity of specific sports.

	
	
	
	Total
	3
	

	9
	
	
	One mark

(d) Cycling
	

1
	

	
	
	
	Total
	1
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